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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks)  

Answer any TEN questions. 

1. State the meaning of Management Accounting. 

 ÷©»õsø© PnUQ¯¼ß ö£õ¸Ò TÖP. 

2. Give any two limitations of Management Accounting. 

 ÷©»õsø© PnUQ¯¼ß H÷uÝ® Cμsk SøÓ£õkPøÍ TÖP.  

3. Define Trend Analysis. 

 ÷£õUPõ´Ä Áøμ¯Ö. 

4. What is Financial Statement Analysis? 

 {v{ø» AÔUøP £S¨£õ´Ä GßÓõÀ GßÚ? 

5. What is Comparative Statements? 

 J¨¥mk AÔUøP GßÓõÀ GßÚ? 

6. What do you know about ‘‘Activity Ratio’’? 

 ö\¯À£õmk ÂQu[PÒ SÔzx EÚx ¦›uÀ ¯õx? 

7. Calculate P.V. Ratio. 

 Sales Rs. 30,000. 

 Variable Cost Rs. 10,000. 

 ÂQuzøu Psk¤i : 

 ÂØ£øÚ ¹. 30,000. 

 ©õÖ® ö\»ÄPÒ ¹. 10,000. 
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8. Find out Current Assets and Current Liability when Current 

Ratio is 2 : 5 and Working Capital Rs. 60,000. 

 |h¨¦ ö\õzx ©ØÖ® |h¨¦ ö£õÖ¨¦z öuõøP°øÚ PshÔP. 

|h¨¦ ÂQu® 2 : 5 GÚ C¸US®ö£õÊx, |øh•øÓ ‰»uÚ® 

¹£õ´ 60,000 BS®. 

9. Write a note on Break-Even Point. 

 C»õ£ |mhzøu ¦ÒÎ £ØÔ SÔ¨¦ ÁøμP. 

10. What is Flexible Budgeting? 

 ö|QÌÄ ÁμÄ ö\»Äz vmh® GßÓõÀ GßÚ? 

11. Bring out the concept of Capital Budgeting. 

 ‰»uÚ ÁμÄ ö\»Ä vmhzvß P¸zvøÚ öÁÎUöPõnºP. 

12. What is Pay-Back Period? 

 v¸®£ «m¦ Põ»® GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks)  

Answer any FIVE questions. 

13. Differentiate between Cost Accounting and Management 

Accounting. 

 AhUPÂø» PnUQ¯À, ÷©»õsø© PnUQ¯À 

BQ¯ÁØÔØQøh÷¯ EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

14. Calculate the Trend Percentage from the following data : 

 2015 2016 2017 2018 

 Rs. Rs. Rs. Rs. 

Cash 100 120 80 140 

Debtors 200 250 325 400 

Stock 300 400 350 500 
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 2015 2016 2017 2018 

 Rs. Rs. Rs. Rs. 

Other current assets 50 75 125 150 

Land 400 500 500 500 

Building 800 1,000 1,200 1,500 

Plant 1,000 1,000 1,200 1,500 

 2,850 3,345 3,780 4,690 

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x ÷£õUS \uÂQuzvøÚ PnUQhÄ®. 

 2015 2016 2017 2018 

 
¹. ¹. ¹. ¹. 

öμõUP® 100 120 80 140 

PhÚõÎPÒ 200 250 325 400 

\μUQ¸¨¦ 300 400 350 500 

©ØÓ |h¨¦ ö\õzxPÒ 50 75 125 150 

{»® 400 500 500 500 

Pmih® 800 1,000 1,200 1,500 

ö£õÔ 1,000 1,000 1,200 1,500 

 2,850 3,345 3,780 4,690 

15. Calculate : 

 (a) Current Assets; 

 (b) Current Liabilities; 

 (c) Liquid Assets; 

 (d) Stock 

  Current ratio = 2.5 

  Liquid ratio = 1.5; 

  Working capital Rs. 90,000. 



 62453/CPZ6B/CPG6A/ 
 CPM6A/CPW6C/CPC6C/ 
 MAT6A/CPW3E 

4

 PnUQkP :(A) |h¨¦ ö\õzx (B) |h¨¦ ö£õÖ¨¦ 

 (C) }ºø© ö\õzx (D) \μUQ¸¨¦  

 |h¨¦ ÂQu® = 2.5 

 }ºø© ÂQu® = 1.5 

 |øh•øÓ •uÀ = ¹. 90,000. 

16. Pavin Ltd. sells goods on cash as well as on credit. The following 

particulars are extracted from their books of accounts for 2016. 

 Rs.

Total sales 1,00,000

Cash sales (included above) 20,000

Sales returns 7,000

Provision for doubtful debts 1,000

Total debtors on 31.12.2016 9,000

Bills receivable on 31.12.2016 2,000

Trade creditors on 31.12.2016 10,000.

 Calculate the Average Collection Period. 

 £Âß {Ö©® \μUSPøÍ öμõUPzvØS® PhÝUS® ÂØ£øÚ 

ö\´QßÓx. AÁØÔß  2016&UPõÚ  HkPÎ¼¸¢x ¤ßÁ¸® 

uPÁÀPÒ GkUP¨£mkÒÍÚ. 

 ¹. 

ö©õzu ÂØ£øÚ 1,00,000 

öμõUP ÂØ£øÚ (÷©ØTÔ¯ÁØÔÀ Ah[Q²ÒÍx) 20,000 

ÂØ£øÚ v¸¨£® 7,000 

I¯UPhß JxUS 1,000 

ö©õzu PhÚõÎPÒ 31.12.2016 AßÖ 9,000 

ö£ÖuØS›¯ ©õØÖa^mk 31.12.2016 AßÖ 2,000 

Â¯õ£õμ PhÜ¢÷uõºPÒ 31.12.2016 AßÖ 10,000. 

 \μõ\› Á`¼US® Põ»zøuU PnUQkP. 
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17. From the following balances you are required to calculate Cash 

From Operations : 

 31.12.2017 31.12.2018 

 Rs. Rs. 

Debtors 50,000 47,000 

Bills Receivable  10,000 12,500 

Creditors 20,000 25,000 

Bills payable 8,000 6,000 

Outstanding expenses 1,000 1,200 

Prepaid expenses 800 700 

Accrued Income 600 750 

Income Received in advance 300 250 

Profit made during the year — 1,30,000 

 ¤ßÁ¸® C¸¨¦PÎ¼¸¢x ö\¯À£õkPÒ ‰»® öμõUPzvøÚ 

PnUQkP. 

 31.12.2017 31.12.2018 

 ¹. ¹. 

PhÚõÎPÒ 50,000 47,000 

ö£ÖuØS›¯ ©õØÖa^mk 10,000 12,500 

PhÜ¢÷uõº 20,000 25,000 

ö\¾zxuØS›¯ ©õØÖa^mk 8,000 6,000 

öPõk£hõ ö\»ÄPÒ 1,000 1,200 

•ßTmi ö\¾zv¯ ö\»ÄPÒ 800 700 

ö£Ó¨£h ÷Ási¯ ö\»ÄPÒ 600 750 

•ßTmi÷¯ ö£ØÓ Á¸©õÚ® 300 250 

|h¨£õsiØS›¯ C»õ£® — 1,30,000 
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18. From the following calculate Break Even Point in units and 
volume : 

 Selling price per unit — Rs. 15 

 Variable cost per unit — Rs. 10 

 Fixed expenses — Rs. 1,50,000 

 ¤ßÁ¸® Â£μ[PÎ¼¸¢x C»õ£ |mh©ØÓ {ø»¨¦ÒÎø¯ 
A»SPÎ¾®, ÂØ£øÚ ©v¨¤¾® PnUQkP. 

 J¸ A»Qß ÂØ£øÚ Âø» — ¹. 15 

 J¸ A»Qß ©õÖ® ö\»Ä — ¹. 10 

 {ø»ö\»ÄPÒ — ¹. 1,50,000. 

19. A project costs Rs. 5,00,000 and yields annually a profit of  
Rs. 80,000 after depreciation at 10% p.a. but before tax of 50%. 
Calculate Pay-back period. 

 J¸ vmhzvÀ AhUP® ¹. 5,00,000 Á› 50% PnUQk® •ß¦, 
÷u´©õÚ® BsiØS 10% PnUQmh ¤ß¦ C»õ£® ¹. 80,000 
BsiØS Dmh¨£mhx. v¸®£ «m¦ Põ»zvøÚU PnUQkP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

20. Explain the importance of Management Accounting. 

 ÷©»õsø© PnUQ¯¼ß •UQ¯zxÁ[PøÍ ÂÍUSP. 

21. From the following balances sheet of X Ltd., you are required to 
prepare a Comparative Balance Sheet. 

 Balance Sheet as on 31st December 
Liabilities 2016 2017 Assets 2016  2017 
 Rs. Rs.  Rs.  Rs. 
Equity capital 400 400 Land and Buildings 400  370 
6% preference capital 300 300 Plant and machinery 400  410 
Reserves 200 245 Stock 200  300 
8% Debentures 100 150 Debtors 200  300 
Bills payable 50 75 Cash 100  140 
Creditors 250 350     

 1,300 1,520  1,300  1,520 
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 ¤ßÁ¸® Â£μ[PÒ X ¼ªöhmiß C¸¨¦{ø»U SÔ¨¤À 

C¸¢x ö£Ó¨£mkÒÍÚ. 

 J¨¥mk TØÖ C¸¨¦{ø»U SÔ¨¤øÚ u¯õº ö\´P. 

i\®£º 31 ØPõÚ C¸¨¦ {ø» 

ö£õÖ¨¦PÒ 2016 2017 ö\õzxPÒ 2016  2017 

 ¹. ¹.  ¹.  ¹. 

\›\© •uÀ 400 400 {»® ©ØÖ® Pmih® 400  370 

6% •ßÝ›ø© •uÀ 300 300 ö£õÔ ©ØÖ® 

C¯¢vμ® 

400  410 

Põ¨¦PÒ 200 245 \μUQ¸¨¦ 200  300 

8% Phß£zvμ[PÒ 100 150 PhÚõÎPÒ 200  300 

ö\¾zxuØS›¯ 

©õØÖa^mk 

50 75 öμõUP® 100  140 

PhÜ¢÷uõº 250 350     

 1,300 1,520  1,300  1,520 

22. From the following details, prepare a Statement of Proprietary 

Funds : 

 (a) Long term loans  Rs. 50,000 

 (b) Working capital Rs. 80,000 

 (c) Reserves to capital 1 : 2 

 (d) Current ratio  2 times 

 (e) Liquid ratio 1.4 times 

 (f) Fixed assets to proprietary funds 

 (g) There are not intangible assets. 

 RÌPõq® ÂÁμ[PÎ¼¸¢x E›ø©¯õÍº {v AÔUøPø¯ u¯õº 

ö\´P. 

 (A) }sh Põ» Phß ¹. 50,000 
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 (B) |øh•øÓ •uÀ ¹. 80,000 

 (C) Põ¨¦PÎ¼¸¢x •uÀ  1 : 2 

 (D) |h¨¦ ÂQu® 2 •øÓPÒ 

 (E) }º© ÂQu® 1.4 •øÓPÒ 

 (F) {ø»¯õÚ ö\õzv¼¸¢x E›ø©¯õÍº {v 

 (G) G¢uÂu PsqUS¨ ¦»¨£hõu ö\õzxPÐ® CÀø».    

23. The Balance Sheet of Mr. Deepan on 01.01.2017 and 31.12.2017 

were as follows : 

Liabilities 1.1.2017 31.12.2017 Assets 1.1.2017 31.12.2017 

 Rs. Rs.  Rs. Rs. 

Creditors 40,000 44,000 Cash 10,000 7,000 

Mr. Deepan Loan 25,000 — Debtors 30,000 50,000 

Loan from bank 40,000 50,000 Stock 35,000 25,000 

Capital 1,25,000 1,53,000 Machinery 80,000 55,000 

 Land 40,000 50,000 

 Building 35,000 60,000 

 2,30,000 2,47,000  2,30,000 2,47,000 

 During the year a machine costing Rs. 10,000 (accrued 

depreciation Rs. 3,000) was sold for Rs. 5,000. The provision for 

depreciation against machinery as on 1.1.2017 was Rs. 25,000 on 

31.12.2017 Rs. 40,000. Net profit for the year 2017 amounted to 

Rs. 45,000. You are required to prepare Cash Flow Statement.  
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 1.1.2017 ©ØÖ® 31.12.2017 v¸. w£ß Gß£Á›ß C¸¨¦{ø»U 

SÔ¨¦ ¤ßÁ¸©õÖ EÒÍx : 

ö£õÖ¨¦PÒ 1.1.2017 31.12.2017 ö\õzxUPÒ 1.1.2017  31.12.2017 

 ¹. ¹.  ¹.  ¹. 

PhÜ¢÷uõºPÒ 40,000 44,000 öμõUP® 10,000  7,000 

v¸. w£ß Phß 25,000 — PhÚõÎPÒ 30,000  50,000 

Á[Q°¼¸¢x 

Phß 
40,000 50,000 \μUQ¸¨¦ 35,000  25,000 

•uÀ 1,25,000 1,53,000 C¯¢vμ® 80,000  55,000 

 {»® 40,000  50,000 

 Pmih® 35,000  60,000 

 2,30,000 2,47,000  2,30,000  2,47,000 

 |h¨¦ BsiÀ J¸ C¯¢vμzvß AhUPÂø» ¹. 10,000 (÷\º¢u 

÷u´©õÚ® ¹. 3,000) ¹. 5,000US ÂØP¨£mhx. C¯¢vμzvß «x 

÷u´©õÚ JxUS 1.1.2017 AßÖ ¹. 25,000 ©ØÖ® 31.12.2017 

AßÖ ¹. 40,000. 2017&® BsiØPõÚ {Pμ C»õ£® ¹. 45,000. 

öμõUP |h©õmh AÔUøPø¯ }Âº u¯õ›UPÄ®.  

24. ‘A’ Ltd., requires you to prepare Cash Budget in order to arrange 

overdraft for the month of April to June 2018. 

2018 Sales Purchases Wages

 Rs. Rs. Rs.

February 1,80,000 1,24,800 12,000

March 1,92,000 1,44,000 14,000

April 1,08,000 2,43,000 11,000

May 1,74,000 2,46,000 10,000

June 1,26,000 2,68,000 15,000
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 50% of sales are realised in the same month and the balance will 

be realised in the following month. Creditors and wages are paid 

in the following month. 

 The cash balance as on 01.04.2018 Rs. 25,000. 

 ‘A’ ¼ªöhm Á[Q ÷©ÀÁøμ¨£ØÖ 2018 H¨μÀ&áüß 

©õu[PÐUPõÚ HØ£õk ö\´¯ wº©õÛzx J¸ öμõUP vmhzøu 

u¯õº ö\´¯ ÷PmkÒÍx. 

2018 ÂØ£øÚ öPõÒ•uÀ T¼

 ¹. ¹. ¹.

¤¨μÁ› 1,80,000 1,24,800 12,000

©õºa 1,92,000 1,44,000 14,000

H¨μÀ 1,08,000 2,43,000 11,000

÷© 1,74,000 2,46,000 10,000

áüß 1,26,000 2,68,000 15,000

 50% ÂØ£øÚ A÷u ©õuzvÀ Á`»õS®. «v Á¸QßÓ ©õu® 

Á`»õS®. Phß D¢÷uõ¸US ©ØÖ® T¼ Á¸QÓ ©õu® 

öPõkUP¨£k®. öμõUP C¸¨¦ 1.4.2018 AßÖ ¹. 25,000. 

————————— 


